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308 X EHHSOIA 517,038 517,038 0
01 HIXNHHNBHEELS 517,038 517,038 0
OMAS B22I1E Meoty X& 517,038
SIEPIEXE WEH XA 77,770 155,540 ANTT,770




H N (MI=EX/B= -

SA - BB B () - MM - BES Ol &t o San HmEET

308 X EHSOIA 77,770 155,540 NTT,770

01 AXNSGHBLAEES 77,770 155,540 ANTT,770
OSR2IIEXNEH wsHl X 77,770

tS2=sdl Xd(=212) 3,878,955 2,958,750 920,205
J| 3,447,960
< 430,995

308 XXM SOIA 3,878,955 2,958,750 920,205
J| 3,447,960
< 430,995

01 IXNSHHBMNEES 3,878,955 2,958,750 920,205
ORR2IE Ots Y 3,878,955
J| 3,447,960
< 430,995

FI ots2¢=sd KNI (=2 37,800 37,800 0
J| 33,600
= 4,200

308 XtXIEHHSOIA 37,800 37,800 0
J| 33,600
= 4,200

01 HXNHHNBHELS 37,800 37,800 0
OSRE2IE FIt 37,800
J| 33,600
< 4,200

SUSH(E0Y sgEH) X 109,845 148,050 A 38,205
Jl| 97,640
= 12,205

308 XX EHSOIA 109,845 148,050 A 38,205
J| 97,640
< 12,205

01 AXSGHBLAEES 109,845 148,050 A 38,205
OBR2IIE Ots = 109,845
J| 97,640
< 12,205

MEgExz N (21) 5,400 5,400 0
J| 4,800
< 600

308 XXIEHHSOIA 5,400 5,400 0
J| 4,800
< 600

01 AXHHBILEES 5,400 5,400 0
OstR2IIE dME2x3a X 5,400
J| 4,800
= 600

od 0ER2fA HEI 50,000 50,000 0
J| 25,000




FMN HEFEAEIIID
HM: 23 A28 N (MI=Z2XN/E=S - IIEL0 Y
& HAEIE 23 =4 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
== 25,000
307 glz2tol & 50,000 50,000 0
J| 25,000
< 25,000
11T MISXASEEX 50,000 50,000 0
oYY DIERRX HEII2 29 50,000
J| 25,000
< 25,000
HAESRD otsg=sH XA (22) 49,680 45,948 3,732
J| 44,160
< 5,520
308 XtXIEHH SOl A 49,680 45,948 3,732
J| 44,160
< 5,520
01 AXHHBIYEES 49,680 45,948 3,732
OHLAUESIRER OtSY=SH X 49,680
J| 44,160
= 5,520
HAHSIER AXH DA &5 NI (=1) 11,295 11,652 A 357
Jl| 10,040
< 1,255
308 AAIEHHSOIA 11,295 11,652 A 357
J| 10,040
< 1,255
01 HXNHHNBHELS 11,295 11,652 A 357
OFAUEREE AZ DA &sH X 11,295
J| 10,040
< 1,255
HAUESREE NEsdxY N (32) 5,400 5,400 0
J| 4,800
< 600
308 XXM SOl A 5,400 5,400 0
J| 4,800
= 600
01 IXNHHBMNEES 5,400 5,400 0
OHAUWEREE NEsd=g X2 5,400
J| 4,800
< 600
ANE AT AERls XA (=2) 7,380 12,000 A 4,620
J| 6,150
= 1,230
308 MXIEHSOH 7,380 12,000 A 4,620
J| 6,150
< 1,230
01 X HHILEXS 7,380 12,000 A 4,620




2N

A 23 H20HE KNE(MIsX/ES - HEL0
& HAEIE 23 =4 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OSSR Al 24X &EXE KH 7,380
J| 6,150
< 1,230
ANE JIsEd XA (=12) 33,390 0 33,390
J| 22,260
= 11,130
403 MtXISHHE X201 E 33,390 0 33,390
J| 22,260
< 11,130
01 AXSHMA=2EE 33,390 0 33,390
ORE2 ANE JIs2d N& 33,390
J| 22,260
< 11,130
NACIold D18 &AL XI& 30,000 30,000 0
307 21201 A 30,000 30,000 0
11T AL SXAEE = 30,000 30,000 0
OMACIoY Jg&dA XA 30,000
CEstts 4 X3 30,000 0 30,000
201 €24l 30,000 0 30,000
01 At 22l 30,000 0 30,000
OU=2siH MZAHHE 30,000
ChE3tE Atsl S8 X3 36,000 16,000 20,000
201 Let24E] 1,000 1,000 0
01 At 22l 1,000 1,000 0
OU=ZsItE 2UREXN 2 =294 1,000
301 et A3z 15,000 15,000 0
09 &AL HIZ &S 15,000 15,000 0
OUZsIIE 2UREXN & =24 15,000
308 X EHHSOIA 10,000 0 10,000
01 HIXNHHNBHNELS 10,000 0 10,000
OUIeIENE 2223 Ol == 10,000
403 XSS X201 & 10,000 0 10,000
01 X SHHX2E = 10,000 0 10,000
OUZsIIEXNJHE JIs2 10,000
s o HHME 5 SRUSHEA X2 (=22) 914,618 914,622 N4
J| 842,415
< 72,203
308 XtXIEHH SOl A 914,618 914,622 A4
J| 842,415
= 72,203
01 HXNHHNBHEES 914,618 914,622 A4




o 425 AANE N (ASSX/2S - HSL0L)
Sl AFINY 25 E4

= _ — d =
A FB B (B) - HRAY - BES 0l &t o il Bl RE2

OXHLs ¥ M& 5 Y2USMHHA X 914,618
J| 842,415
< 72,203

Ct23tots Atdl2el K& (=2) 59,850 59,850 0
J| 59,850

308 XXM SOl A 59,850 59,850 0
J| 59,850

01 AXHHILEES 59,850 59,850 0
OL23IIE Al 22l X& 59,850
J| 59,850

Z2E0/2X SHIAANH A XS 309,415 309,415 0
| 284,987
< 24,428

308 XXIEHHSOIA 309,415 309,415 0
p] 284,987
< 24,428

01 HXNHHNBHELS 309,415 309,415 0
OZS0l2X SHAMHI A X 309,415
J| 284,987
< 24,428

ChE3E g g X 372,736 395,123 N22,387
J| 343,309
< 29,427

308 XX EHSOIA 372,736 395,123 A22,387
Jl| 343,309
< 29,427

01 HIXNHHBNEES 372,736 395,123 A22,387
oOttEsltE A ee XA 372,736
p] 343,309
< 29,427

olsd JIE8d =4 75,852 63,244 12,608
J| 69,860
< 5,992

308 XXIEHHSOIA 75,852 63,244 12,608
J| 69,860
< 5,992

01 AXHHILEES 75,852 63,244 12,608
oo0l=d0 JtEEE =4 75,852
J| 69,860
< 5,992

st=0us 29 279,241 279,241 0
J| 279,241

308 AHAIEHHSOIA 279,241 279,241 0
J| 279,241

01 HXNHHNBHEELS 279,241 279,241 0
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AN HEdEAEIFD

HH: Ol 45 4 SH(MIISX/L0 - 34 H)
el 344 84 T8 24 (&)
SA - BB B () - MM - BES Ol &t o San HmEET
201 Le-2d| 4,000 0 4,000
01 At 22l 4,000 0 4,000
o&dA24E NEX U3l 4,000
301 L2 A F 12,000 0 12,000
09 &AL HI B &S 12,000 0 12,000
oO3ax4E XTI Ul 12,000
307 21201 A 52,000 104,000 252,000
11T AL SXAEE = 52,000 104,000 A52,000
OHALAGEANE SAN B ¥ LU= 12,000
oOFAE NESAES X 40,000
308 XtXIEHH SOl A 40,000 0 40,000
01 AXHHILEES 40,000 0 40,000
O&¥AY I MUTF 40,000
SEEANE FAEH2IRSE 29(=212)(2F) 2,000 2,000 0
J| 1,000
< 1,000
307 gl2tol & 2,000 2,000 0
J| 1,000
< 1,000
11T M SXAISE EX 2,000 2,000 0
OZ3+EANE BLAU2IHRAS 29 2,000
J| 1,000
< 1,000
S3FEANE FAEH2IARS 29(=21) 31,000 31,000 0
J| 31,000
308 XXM SO0l A 31,000 31,000 0
J| 31,000
01 IXNHHBNEES 31,000 31,000 0
OZZ3+EANE BLU2HRAS 29 31,000
J| 31,000
ANAHAEHEWI? 2S(22)(HE) 10,000 10,000 0
J| 5,000
= 5,000
307 21201 A 10,000 10,000 0
J| 5,000
< 5,000
11T AR SXAIEE = 10,000 10,000 0
OXNIEHAEFEHFAHIF 2 10,000
J| 5,000
< 5,000
ANAHAEEHWI 2 2E(=21) 25,200 25,200 0
J| 25,200




AN HEdEAEIFD

HH: Ol 45 4 SH(MIISX/L0 - 34 H)
el 344 84 T8 24 (&)
SA - BB B () - MM - BES Ol &t o San HmEET

308 X EHSOIA 25,200 25,200 0
J| 25,200

01 HIXNHHBHEELS 25,200 25,200 0
OXNIHEAEEHMWIZ 2L 25,200
J| 25,200

ANgHLESSIEMH Js2ds (=) 618,500 612,000 6,500
= 185,550
< 432,950

307 glz2+ol & 618,500 612,000 6,500
= 185,550
< 432,950

10 ALSISXAIEEE2EHEX 618,500 612,000 6,500
ONgHFAHESIUELH 29 618,500
= 185,550
< 432,950

SN Z208 29(22)(2E) 3,000 4,000 A 1,000
J| 1,500
= 1,500

307 21201 A 3,000 4,000 A 1,000
J| 1,500
= 1,500

11T AL SXAIEE = 3,000 4,000 A 1,000
SSELAYE AL 2238 29 3,000
J| 1,500
< 1,500

ZZ4UAL T2y 26(2D) 25,000 22,000 3,000
J| 25,000

308 X EHSOIA 25,000 22,000 3,000
J| 25,000

01 HIXNHHNBNEELS 25,000 22,000 3,000
O333AYE EA4E T2 22 25,000
J| 25,000

HAGEXSZA BHXIXE(22)(2F) 21,360 20,640 720
J| 10,680
< 10,680

307 21201 A 21,360 20,640 720
J| 10,680
< 10,680

11T MISRASEX 21,360 20,640 720
OZEx=EAE FAEXZ A BIX 21,360
J| 10,680
< 10,680

HAENCA HAIX(2D) 438,480 412,800 25,680
9] 438,480




AN HEdEAEIFD

HH: Ol 45 4 SH(MIISX/L0 - 34 H)
©9: AW S8 D2J 29 CER-ED
SA - BB B () - MM - BES Ol &t o San HmEET
308 X EHSOIA 438,480 412,800 25,680
J| 438,480
01 HIXNHHBHEELS 438,480 412,800 25,680
OZ3+8AE FALEXZ A BIXI 438,480
J| 438,480
FAHNSE0Y X2 (Z2) 66,250 122,500 A 56,250
= 50,200
< 16,050
308 XXM SO A 66,250 122,500 A 56,250
= 50,200
< 16,050
01 IXNHHBANEES 66,250 122,500 A 56,250
oOF¥FaYd H=SE0E XN& 66,250
= 50,200
< 16,050
yausotel N (22D) 98,750 83,750 15,000
2 79,000
= 19,750
308 XtXIEHHSOIA 98,750 83,750 15,000
= 79,000
= 19,750
01 HXNHHBHELS 98,750 83,750 15,000
o&¥Aa4d sotel XA 98,750
= 79,000
< 19,750
HAUES U MG BE 5,535,820 5,371,332 164,488
= 20,000
J| 3,833,887
= 1,681,933
A8 dE Bs 10,000 10,000 0
201 £B-2dH| 10,000 10,000 0
01 At 22l 10,000 10,000 0
OURAT SWEAGY XA 2 0,000
StuES g T2 29 (2 0)(2F) 53,704 51,800 1,904
J| 53,704
307 glz2+ol & 53,704 51,800 1,904
J| 53,704
11T MISRASER 53,704 51,800 1,904
OsW=EzY g8l =29 53,704
J| 53,704
StIEe (YT 29(2D) 64,230 99,200 A 34,970
J| 64,230
308 XHXIEHAI S O & 64,230 99,200 A34,970
bl 64,230




PH HEFEAEIED
HH: Ol 45 4 SH(MIISX/L0 - 34 H)
O9: HAUES U NG BS (S5 &)
SA - BB B () - MM - BES Ol &t o San HmEET
01 AXSHHBLEES 64,230 99,200 A 34,970
OsH=Es Mgzl 29 64,230
J| 64,230
Faraudg=sN6dH X2 409,000 399,000 10,000
307 21201 A 384,000 364,000 20,000
10 ALSISXAIEEE2EHEX 320,000 300,000 20,000
Ok FAGdE=SNEH 2EX& 320,000
11T M SXAISE EX 64,000 64,000 0
O HFAUMEESXEH ASXA 64,000
403 MtXISHHE A0l & 25,000 35,000 A 10,000
01 AXSHMA=2EE 25,000 35,000 A 10,000
OFLAHAESNHAH JIsEB2(F2EIHH) 25,000
FAESEA T2 24(=1)(8E) 215,838 215,800 38
J| 107,919
< 107,919
307 21201 A 215,838 215,800 38
J| 107,919
< 107,919
11T MISXASEEX 215,838 215,800 38
OFAY SEHA 220 299 215,838
J| 107,919
= 107,919
FAESEL Z208 29(=1) 244,170 244,170 0
J| 244,170
308 AHXIEHHSOIA 244,170 244,170 0
Jl| 244,170
01 HIXNHHNBHEELS 244,170 244,170 0
OFAY SEA 2208 29 244,170
J| 244,170
ANAAME HLAESESN2MHA 25 (22)(HE) 378,200 373,900 4,300
J| 189,100
< 189,100
307 glz2+0ol & 378,200 373,900 4,300
J| 189,100
= 189,100
11T MISRASEX 378,200 373,900 4,300
OXYAtel BAESEXNEMA 2= 378,200
J| 189,100
< 189,100
NAME HAHSEFXNMA 2F(2 1) 405,450 454,515 249,065
J| 405,450
308 XX EHH SOl A 405,450 454,515 A 49,065
J| 405,450




SA AU
Mo Ol 8E HA
|

el EAEEs ¥ dE 23 (&)
SA - BB B () - MM - BES Ol &t o San HmEET
01 AXSHHBLEES 405,450 454,515 A 49,065
OXSAte HAEHSEXNIHA *= 405,450
J| 405,450
HAUHEH 29 NA(21) 1,062,086 1,037,431 24,655
J| 531,043
< 531,043
307 21201 A 1,062,086 1,037,431 24,655
J| 531,043
< 531,043
10 ALSISEXAIEEE2EHEX 1,062,086 1,037,431 24,655
odAEEH 2L 1,062,086
J| 531,043
< 531,043
HAUEH 29X (HY) 48,000 0 48,000
307 21201 A 48,000 0 48,000
11 AL S XA E = 48,000 0 48,000
OHEAEEH SAXN AR 48,000
HAEHRSHE 23 (20)(2F) 285,080 274,966 10,114
J| 142,540
< 142,540
307 glz2tol & 285,080 274,966 10,114
J| 142,540
S 142,540
11T M SXAISE EX 285,080 274,966 10,114
OFALTILISME 23 285,080
J| 142,540
= 142,540
HAHS2sHH 28 (=22) 142,540 137,482 5,058
J| 142,540
308 XXM SOIA 142,540 137,482 5,058
J| 142,540
01 AXNSHHBANEES 142,540 137,482 5,058
OHAUHLESEH 23 142,540
Jl| 142,540
HAHYWSOIHO0 22 (2 2)(HF) 210,662 210,948 A 286
J| 105,331
< 105,331
307 21201 A 210,662 210,948 A 286
J| 105,331
< 105,331
11 ALS S XALEE = 210,662 210,948 A 286
a4 gu=sot3tdlol 22 210,662
J| 105,331
< 105,331




SA AU
Mo Ol 8E HA
|

0]
b
m

~

e 3AUES ¥ 8k 23 (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
HAESWZOH0l 2 (=21) 1,014,860 1,014,840 20
| 1,014,860

308 XXX SO0 A 1,014,860 1,014,840 20
J| 1,014,860

01 AXSHBAELS 1,014,860 1,014,840 20
OFAYE Zu=0t3tdiol 29 1,014,860
| 1,014,860

HAERHEE 2AS NA(=Z1D) 66,000 68,000 A 2,000
= 20,000
< 46,000

307 2Iz2t0l A 66,000 68,000 A 2,000
= 20,000
< 46,000

11T AISISAAISEE X 66,000 68,000 A 2,000
OFadRMad Z2AH XA 66,000
= 20,000
< 46,000

St o8 AW NA(2D)(NF) 310,000 245,940 64,060
| 217,000
< 93,000

307 21201 A 310,000 245,940 64,060
| 217,000
< 93,000

1A S XA E X 310,000 245,940 64,060
Ostw & 44 X& 310,000
| 217,000
= 93,000

st gt HAE X2 (=21) 546,000 473,340 72,660
| 546,000

308 XXM S0 A 546,000 473,340 72,660
| 546,000

01 AXSGHBLAEES 546,000 473,340 72,660
Ostw & HAd XA 546,000
| 546,000

Hiod s (21) 70,000 60,000 10,000
| 70,000

308 XXM S0l A 70,000 60,000 10,000
| 70,000

01 IXNHHBNEES 70,000 60,000 10,000
o&¥AH EEXNE 70,000
J| 70,000

BaY A4 23 4,125,000 2,700,500 1,424,500
Xl 3,750,000
< 375,000




AN HEdEAEIFD

H: Ol 85 4 4 (MEI=SX/20 -

el 3A4E AL &5

0]
b
m

~

% S 4 14
SN HE B (BH) - MR - BES e bl D=2t
HAGAMESE(20)(HY) 560,000 258,000 302,000
Xl 450,000
< 110,000
401 Al Bl 28I 560,000 0 560,000
X 450,000
< 110,000
01 A& Bl 560,000 0 560,000
OHAYEANE &= 560,000
Xl 450,000
< 110,000
HAHANEEE (=) 3,542,000 2,442,500 ,099,500
Xl 3,300,000
< 242,000
403 MtXISHH S0l & 3,542,000 2,442,500 ,099,500
Xl 3,300,000
< 242,000
01 AXSHMA=2E X ,542,000 2,442,500 ,099,500
OHAHUANE &= 3,542,000
Xl 3,300,000
< 242,000
HAGEANLEES(XHA) 23,000 0 23,000
402 RI2HXt20l ™ 23,000 0 23,000
03 QI 2HCH e AF S HI 23,000 0 23,000
ZEE MASHe =3 Al HE= 23,000
HY2FZH (A AEIIE)(JIEHIIE 35,965 38,005 A 2,040
Jl=34l 35,965 38,005 A 2,040
2A2Y JI23tl 35,965 38,005 A 2,040
201 2et24d] 23,605 23,605 0
01 At 2teltl 23,605 23,605 0
ORAM2Y AtR2eltl 23,605
202 O4dl 8,160 10,200 A 2,040
01 SLHAYI 8,160 10,200 A 2,040
ORM2E =UHH 8,160
203 YR =2t 4,200 4,200 0
04 FN2IELSZ=AH 4,200 4,200 0
©30¢! olat 350,000& 122 4,200




